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Table 1: The Informal economy by sector

Number of informally

Percent of informally

Industry employed employed
Trade
(incl. wholesale and retail sectors) 957,000 45.1
Construction 368,000 17.3
Manufacturing 220,000 104
Services
(incl. community, social, personal) 202,000 9.5
Private households
(excl. domestic work) 176,000 8.3
Transport 114,000 54
Finance 74,000 3.5
Utilities 6,000 0.3
Mining 3,000 0.1
Other 3,000 0.1
Total (excl. agriculture) 2,123,000 100%
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When asked how traders compete or how they experience competition the common response

was that they compete for customers — but they would not try to convince someone to buy
from them rather than a neighbour.
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